4.1

4.1.1 Yo

200 °C 2

J0°C1
300 °c 2
300°c 3
30 °c 3
40 C1

200

350

300



400

350

4.1.2

4.2:

CS10D
CS15D
CS20D
CS25D

BET

[ZnC%

4.1

4.1:

590.07
553

BET

1.1
1.5:1
2:1
2.5:1

4.2

[ZnCl4]2-
136.28
43251510
2.91
275
756
5540
BET 1.4
400
6
(mglg) BET(m2Kk?)
66 1.41
553 590.07
563 700.08
603 732.47
608 869.40
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( Amorphous )

BET
3 10
4.2
50
YAO 4/8
YAO 12/30
BET
4.3
4.3: BET
(mglg) BET(m2/s)
YAO 4/8 1310 1193.31
YAO 12/30 1305 1229.27
58
BET (YA04/8,
YAQ12/30)
10 6]
4.1.3
50 15 1

30



1200

1150 -
O

~
on

950
900
850
800
750

Iodine Adsorption(mg/g

1050 |

—
o
o
o
T

OO
OO

Qs
o aialuss
Voo |
-.x..

~ISUnE

| 1 5 |

700
0

BT

4.4:

CS10D
CS10DS
CS108

20 40

BET

BET

BET
[9] 41

60 80 100 120
TIME(min)

iodine adsorption

4.4

(mglg) BET(m2/5)
553 590.07
823 913.67
898 710.50

BET

10 -30
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BET

4.1.4

4.2 4.3

12130

4.2

4.2.1

50
0.05

(bulk density, Pi)

4.5

4.1

m- 10

4.3

20

BET
4.2
YAO 4/8 YAQ 12/30
YAQ
YAOQ 4/8
15.29
4.4
(particle density, /,,)
(4.1)
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10 20 30 40 50 60 70
44 CS10D
4.2.2
46
4.2.3
45
1 1 11
q= & KLGEP (42)
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47 BET
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CS10D
CS15D
CS20D
CS25D
CS10DS
CS10S
YAQ 4/8
YAQ 12/30

YAQ 4/8

YAQ 418

()
11681

1.0893
1.1057
1.2210
0.9541
1.0062
0.9551
0.8901
0.8687
0.9482

YAO 12130

YAOQ 12130

839.13
686.59
678.09
134.44
582.87
51340
593.25
382.02
443,30
587.64

il

0.11

0.54%18
0.5447
0.5321
0.5229
0.5303
0.4376
0.5380
0.3314
0.4317
0.5370
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' 4.6

CS10D
CS15D
CS20D
CS25D
CS10DS
CS10S
YAQ 4/8
YAQ 12/30

4.2.4

YAO ars

410

L)
25,0510

20,0948
12,4633
14.0995
143319
25.8613
16.5829
28,0380
22.7583
21.0321

YAO 12/30

YAO a8

49

YAQO 4/8

()
185.1852

190.2034
206.6923
196.0784
193.4210
189.3220
197.6675
188.6792
196.0784
181.8182

4.6

4.7

4.8

YAO 12/30

YAO 12130

411
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CS10D
CS15D
CS20D
CS25D
CS10DS
CS10S
YAQ 4/8

YAOQ 12/40

50

K1
0.0226
0.0174
0.0263
0.0193
0.029
0.0311
0.0150
0.0177
0.0198
0.0192
0.0269
0.0185
0.0232
0.0226
0.0379
0.0408
0.0385
0.0280
0.0389
0.0242

0.3902
0.4161
0.4036
0.3791
0.3745
0.3620
0.4498
0.4232
0.5345
0.5373
0.4521
0.5312
0.4813
0.4917
0.5517
0.5706
0.5166
0.5983
0.4659
0.5399

R2
0.9326
0.9033
0.9113
0.9117
0.9152
0.9232
0.9396
0.9259
0.9125
0.9417
0.9331
0.9156
0.9342
0.9065
0.9457
0.9503
0.9358
0.9441
0.97%
0.9161
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H48:

CS10D
CS15D
CS20D
CS25D
CS10DS
CS10S

YAQ 4/8

YAO 12/40

50
2
50
2
21
21
21
21
21
21
2
21
2
2
21
2

21
50
21
50
21
50
2
50
2

K1
0.00282
0.00062
0.003%
0.00027
0.00525
0.00378
0.00265
0.00309
0.00246
0.00264
0.00222
0.00302
0.00250
0.00264
0.00335
0.00222
0.00408
0.00056
0.00346
0.00056
0.00404
0.00142
0.00460
0.00099
0.00163
0.00063
0.00208
0.00082

(N

0.1284
0.1660
0.0981
0.3366
0.2506
0.3473
0.5068
0.4444
0.5932
0.5672
0.6560
0.5274
0.5825
0.5879
0.4165
0.6087
0.8009
0.7943
0.9006
1.0745
0.8732
0.8275
0.8523
1.2650
2.0924
2.0181
1.8105
16795

R2
0.9006
0.9992
0.9620
0.9997
0.9755
0.9982
0.9968
0.9951
0.919
0.9887
0.9993
0.9820
0.9977
0.9980
0.9987
0.999
0.9960
0.9914
0.9509
0.9875
0.99684
09952
0.9961
0.9992
0.9986
0.9987
0.9959
0.9950



y=91.928 x 2.4199
R%0.9113 7

1 1 1 1 1 | 1 1 1

0.005 0.01 0.015 0.02 0.025 0.03 0.035 0.04 0.045 0.05
/P

3111"’1 4.5: AHANNUSITIHUVDINLUARDIVDINANT 85

4.12
4.12
[10,11]

4.13[2]

10
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